Bracket Systems

E_N?”m 350-455 OLDS DRIVER SIDE
s NN COMPRESSOR BRACKET FITS 1964-1977
260, 307, 330, 350, 400, 403, 425

AND 455
141009

——2.395"—

—1.300"

—1.900"—

——2.290"—

2 GR
WP
405462

ASSEMBLED
VIEW

ALT

2GR CRANK |
405459 |

| 399403
‘ 2. CRANK, WATER PUMP & ALTERNATOR
CODEKJ

i/
1 GRPS CRANK PULLEY GROOVES

1. CRANK, WATER PUMP, COMPRESSOR & POWER STEERING
CODE KG

REQUIRES 2 GROOVE CRANK AND WATER PUMP PULLEY
BELT ROUTING

No. QTy. PART No. DESCRIPTION
1. 1 141010 350-455 OLDS DR SIDE COMP BRACKET ASM
2. 1 146006-SCR COMPRESSOR MOUNTING BRACKET
3. 1 191029 HARDWARE KIT
CHECKED BY:
PACKED BY:
DATE:

901093 REV A 5/29/12 INST 350-455 OLDS DS COMPRESSOR BRACKET PG 1 OF 3




€40 T 9d I]NDVYE YOSSTIIWOD A SA10 SS¥-0S€ LSNI TL/6Z/S0 V AFd €60106

Q)
T
NEE

YOSSTIIWOD _
"SAITINd [ —
LAVHSINWYD 2 dWNd ¥3LVM gl
INOA 40 ¥3LIWVIA HLIM ONILNOY T
AYVA NV SIHL “4IAIMOH . Z/L LS 1713g
HLONI1 1138 V aNIWWODIY IMm

IAO0¥D A"
1138 ¥3100 3N _# —
avaH
aNIONZ 3dIS

d3IARA M

M3IIA INOUYA
aIangwassy

RN ————

S ——

‘SNOILdIRIDSIA L¥Vd A3¥IGWNN JOd 1SIT ONDIdVd
RIVMAIVYH Ol d343¥ "SL1DIDVAL 1TV 40 LNIWNOITV d3d0dd FANSN3I
T1IM SIHL ‘S1109 9NINILHOIL 340439 ANIDON3I Ol A13SO01 SLDDVAL 11V I19WISSY




141009 OLDS 350-455 DR SIDE COMP BRKT

FITS 1964-1977 260, 307, 330, 350, 400, 403, 425 AND 455

DISASSEMBLY:

1.

DISCONNECT BATTERY AND REMOVE OEM A/C COMPRESSOR, BELTS AND BRACKETS
IF EQUIPPED.

ASSEMBLY:

1.

INSTALL VINTAGE AIR 141010 COMPRESSOR BRACKET TO DRIVER SIDE CYLINDER HEAD.
USE (3) 3/8-16 x 1 %" BOLTS. REFER TO ILLUSTRATION.

INSTALL 146006-SCR COMPRESSOR MOUNTING BRACKET TO THE COMPRESSOR USING
(2) 3/8-16 x 1 %" BOLTS AND (2) 3/8-16 LOCKNUTS ON COMPRESSOR TABS “B” AND “D".
INSTALL COMP/MOUNTING BRACKET ASSEMBLY ONTO 141010 COMPRESSOR BRACKET
USING COMPRESSOR TAB “C”, 3/8-16 x 1 %" BOLT, AND 3/8-16 LOCKNUT. REFER TO
ILLUSTRATION.

INSTALL 3/8-16 x 1 %" BOLT AND 3/8-16 LOCK NUT TO REAR OF COMP TO COMPRESSOR
BRACKET. REFER TO ILLUSTRATION.

INSTALL 3/8-16 x 1” BOLT, 3/8 FLAT WASHER AND 3/8 LOCK WASHER TO
146006-SCR TENSIONING SLOT. REFER TO ILLUSTRATION.

INSTALL DRIVE BELT. VINTAGE AIR RECOMMENDS A 13/32 x 57 %" BELT (I.E GATES 7575).

901093 REV A 05/29/12 INST 350-455 OLDS DS COMPRESSOR BRACKET PG 3 OF 3



